ASSEMBLY INSTRUCTION

If you have any questions, please feel free to contact us.
Email: lowesteam@aminalife.com

ROPE SOFA SET 6PCS

e,

( /)/"ﬂ' %7'7.,,«
Qs
uwWW%

wa

M E
Son -2

A

WF324108, WF324109

Page: 1/14



22823
If you have any questions, please feel free to contact us. 

Email: lowesteam@aminalife.com


Note:
1.

50% Tighten before fixing all screws, Allen wrench is recommended instead
of an electric drill.

2. Place the item on a flat ground to adjust and make sure it remains stable.
3.
4. If screw are not aligned with holes during assembly, please loosen all the other

Tighten up all screw with tools gradually.

screws to 50% and continue the assembly process.

. If the item is not stable, please loosen all screws, adjust it on a flat ground and

tighten up all screws again.

. Note: If one or some screws are fully tighten during assembly, chances are the

others will not be aligned with holes. In addition, all the holes are designed to be
relatively larger to provide more space for the adjustment of the screws.

Page: 2/14




CARTON CONTENT:

WF324108

X

MOx 1

© x4

WF324109

QD x 1

7R e B

®

@

Hardware

X2

Ox2 ™

X2

Page: 3/14




Part List

@x1

®x2

Page: 4/14

@x1

®x2

@x4

@XZ

@XZ




Hardware List:

@x 8 @x 72 @x 80
Extra 1 pcs Extra 2 pcs Extra 2 pcs
@))I)\\)\\\\\\\)\\\\\)\\\\\)\)\\\\\m\\\\\)\\ @))i\\\»\\\\\\\\m\\\\\
BOLT M6 x 45MM BOLT M6 x 15MM WASHER M6/1
@x 4 @x 2
))l)l)l)l)l)l)»

SCREW M4 x 12MM

ALLEN KEY M4

Page: 5/14




@X 8 i’?@%@ .
'lalz/ﬂ!lm%.;a-
“’\‘\“\"V izl
@X 8 \ﬁ’\ﬁ/’l/)l(%"\ “ ‘\ ¥lilgl "”‘
, , erM“/IM““.‘vJ ’y“i"/,,
/“ ;l ‘ ‘-‘u‘

N

Connect the back (A) & seat (B), tighten bolt (1), flat washer (3)
with allen key (5).

Connect the part from STEP 1 & leg (C), tighten bolt (2), flat washer (3)
with allen key (5).

Page: 6/14




STEP 3

Put on cushion seat bench (l) & cushion back (J).

STEP 4

Page: 7/14




Ui«i ,__,A\‘»%\\“"A\QWO\A\Q”” |
IR
.%\»&.A.?L\x ._

Connect the chair (D) & leg ( C), tighten bolt (2), flat washer (3)

with allen key (5).

STEP 5
STEP 6

Page: 8/14

Put on cushion seat chair (L) & cushion back (K).




STEP 7

STEP 8

Page: 9/14

5).

(

Connect the seat stool (E) & leg ( C), tighten bolt (2),

flat washer (3) with allen key




STEP9

Put on cushion seat stool (M) .

STEP 10

Page: 10/14




& leg table (G), tighten bolt (2), flat washer (3)

)

F

(

Connect the top table
with allen key (5).

STEP 12

Put out top box cover.

Page: 11/14




STEP 13

Connect the part from STEP 12 & box (H)

STEP 14

x4 Screw

Connect the part from STEP 13 & box (H) with screw (4)

Page: 12/14




STEP 15

Put in top box.

STEP 16

Page: 13/14




STEP 17

Finish

Page: 14/14




	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11
	Page 12
	Page 13
	Page 14

